nezj- DSolve[{D[u[X, Y1, {X, 2}] +D[u[x, y1, {y, 2}] -6xy (1-y) -2x"3 =0,
ufe, y] =0, ufl,y] =y (1-y), u[x, 0] =0, u[x, 1] = e},
u, {x, y}] (* Symbolic Solution Can't find x)
oupz- DSolve|[{-2x*-6x (1-y)y+u'®? [x,y] +u®®[x,y] =0,
ufe, y] =0, u[l1, yj == (1—)/) y, Ulx, 0] =0, u[x, 1] = 0}: u, {x, y}]

sol = NDSolve[{D[u[X, y], {X, 2}] +D[u[x, y1, {y, 2}] -6xy (1-y) -2x"3 =0, u[@, y] =0,
ufl, yl =y (1-y), u[x, @] =0, u[x, 1] =0}, u, {x, 0, 1}, {y, 0, 1}];
(* Numeric Solution =)

o= Plot3D[u[x, y] /. sol, {x, @, 1}, {y, @, 1}, PlotRange -» All]

out[19]=

ni7= Show[{Plot[u[x, 1 /2] /. sol, {x, @, 1}], Plot[u[1, y] /. sol, {y, @, 1}1}]
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